
  WORD PROBLEM EXAMPLE USING THE PROBLEM SOLVING GUIDELINES

Beach and Fargo are 400 miles apart.  Pablo travels from Fargo to Beach on Tuesday at a certain rate.  On Wednesday, he returns to Fargo, this time traveling 10 mph faster.  His total travel time was 
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hours. Find his rate to Beach and the return rate to Fargo.

(1) Understand the problem.  

(2)  Form variable or variable expressions to represent the unknown quantities.  Form equation(s) representing the situation in the problem incorporating the variables.

Let the rate from Fargo to Beach  = x.

Let the return rate from Beach to Fargo = x + 10.

Since (rate)(time) = distance, or rt = d, we can derive a formula for the time t by dividing both sides of this equation by r: 
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Since his total travel time 
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 hours, or as an improper fraction, 
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The time it takes Pablo to go from Fargo to Beach, 
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 , would be the distance, 400, divided by the rate from Fargo to Beach, x.  Expressed algebraically, 
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The time it takes Pablo to return from Beach to Fargo, 
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,  would be the same distance, 400, divided by the 

the return rate from Beach to Fargo  = x + 10. 

 Expressed algebraically,  
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The time from Fargo to Beach + the time from Beach to Fargo =  
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(3)   Solve the equation(s) and be sure to answer the question.  For instance, solving for “x” may not solve the problem.
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 We can simplify this equation by multiplying both sides by  
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to obtain                                  
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    We will now solve this equation for x by doing the following: 

Multiply both sides of  the equation 
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common denominator:        
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Simplify the equation into      
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  Since this is a quadratic equation, we will continue to simplify, set it

 equal to 0 and    solve by factoring.
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Simplify, set it  equal to 0 and solve by factoring, or use the quadratic

     formula. 
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Since rate cannot be negative, we discard the first answer, so x = 50 mph, the rate from Fargo to Beach.  

Also, the return rate from Beach to Fargo = x + 10 = 50 + 10 = 60 mph.

 (4)  Look back; does the answer make sense ?
Last Name:______________________ First Name:________________________
Use the problem solving guidelines to solve the word problem; please show all your work and circle your final answer.  ( 10 pts )

A group of people come forward to claim a $1,000,000 jackpot, which the winners are to equally share.  Before the jackpot is divided, three more winning ticket holders show up; as a result, each person's share is reduced by $75,000.  How many winners were in the original group and how many winners are in the final group ?   
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